
l 3.5 λ⋅:=

n 0 350..:= zn
n

100
λ⋅:=

V z ΓL,( ) 1 ΓL e 2− γ⋅ l z−( )⋅⋅+

1 Γg ΓL⋅ e 2− γ⋅ l⋅⋅−

Z0
Z0 Zg+
⋅ Vg⋅ e γ− z⋅⋅:=

I z ΓL,( ) 1 ΓL e 2− γ⋅ l z−( )⋅⋅−

1 Γg ΓL⋅ e 2− γ⋅ l⋅⋅−

1
Z0 Zg+
⋅ Vg⋅ e γ− z⋅⋅:=

General load ZL 30 j 50⋅+:= Ω

Γgen
ZL Z0−
ZL Z0+

:= Γgen 0.101 0.562i+= Γgen 0.571=

Sgen
1 Γgen+

1 Γgen−
:= Sgen 3.66=

Short Circuit Γsc 1−:=

Open Circuit Γoc 1:=

Matched Load Γmat 0:=

Standing Wave examples- Lossless T.L.
Z0 50:= Ω Vg 10:= V Zg 50:= Ω

Arbitrary choices
γ 0.0 j 2.9⋅+:= 1/m f 100 106⋅:= Hz

λ
2 π⋅

Im γ( ):= u
2 π⋅ f⋅
Im γ( ):= u 2.167 108×= m/s λ 2.167= m

Γg
Zg Z0−
Zg Z0+

:=

1
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General Load- Lossless TL
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Matched Load- Lossless TL
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Short Circuit Load- Lossless TL
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Open Circuit Load- Lossless TL
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